COUNTING ATOMS RULES

1ST RULE OF SYMBOLS

Chemical symbols consist of either a capital letter or a capital letter and a lower case letter. This means that at least one atom of this element is present in the compound.

2ND RULE OF SUBSCRIPTS

The subscript goes with the element it directly follows and indicates how many atoms of that element are present.

3RD RULE OF PARENTHESES

The elements in the ( ) go with the subscript that follows it. Numbers inside the ( ) are multiplied by the numbers outside the ( ).

4TH RULE OF COEFFICIENTS

The coefficient on a chemical compound tells how many molecules of that compound are present. The coefficient applies to every element in the compound and is multiplied with any subscripts present on an element.

Name __________________________________________   Period ______

How many of each element is present in the compound?

1a.  FeS ______________________________________________________

1b. HCl ______________________________________________________

1c. LiF _______________________________________________________

1d. NaOH ____________________________________________________

2a. Cr2O3 _____________________________________________________

2b. C6H12O6 ___________________________________________________

2c. KNO3 _____________________________________________________

2d. MgBr2 ____________________________________________________

3a. Mg(OH)2 _________________________________________________

3b. Ca(CO3)2 __________________________________________________

3c. Ag(SO4)2 __________________________________________________

3d. Ni(NO3)2 __________________________________________________

4a. 3BeI2 _____________________________________________________

4b. 4KOH ____________________________________________________

4c. 5H2O _____________________________________________________

4d. 3Hg(NO3)2 ________________________________________________

coefficient


(see rule 4)





symbol


(see rule 1)





parentheses


(see rule 3)





subscript


(see rule 2)





2Mg3(PO4)2








